[@Zl’] | SEAT No-.__.._..-—- ' - No. of Printed Pages:B

SARDAR PATEL UNIVERSIY
BCOM SEIVIESTER Il EXAMINATIONS 2018
SUBJECT: BUSINESS STATISTICS | (UBO3CCMO4)
DATE: 22/11/2018 ,Thqlsfxlagi . TIME: 10 AMTO 12.00NOON

Note(i) Figures to the right indicate marks
(ii) Use of simple calculators is allowed
(iif} Statistical tables will be provided on request
Q. 1(a)  Explain (i) Variables (ii) Constants (iii)Primary data and (|v)
Frequency distribution

(b)  For the following data prepare frequency distribution and
Compute its mean, mode and median , |
6854320123457678688767540123
4567886743012345678787887865
4301256512346785

OR
Q. 1(a)  Distinguish between primary and secondary data. Also state their
sources

(b)  For the following data, using tally marks and taking one of the
inclusive classes as 22-25, prepare a frequency distribution
10 17 15 22 11 16 19 24 29 18 25 26 32 14 17 20 23 27
30 12 15 18 24 36 18 15 21 28 33 38 34 13 10 16 20 22
29 19 23and 31

- Q. 2(a) Given M = '2'6, find missing freque_ntiés aﬁd-cb'mputé its C V

Class: 0-10 10-20 20-30 30-40 40-50
| f : 5 ? 20 ? 7 =50
(b) Find mean and standard deviation for the following data
X1 2 4 6 8 9 |
OR
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Q. 2(a)

(b)

Q. 3(a)

(b)

Q. 3(a)

Q. 4(a)

(b)_‘

State the measures of dispersion that you have studied. Which
measure is better? Why?

Mean and standard deviation of 100 observations are 40 and 10
respectively. Later it was found that two observations 30 and 70
were taken wrongly as 3 and 27 respectively Compute correct

mean and standard deviation ' |

Give mathematical, statistical and axiomatic definitions of
probability and with usual notations prove that

(i) P{A)+P(A'}=1and

(i) (ii)0<P(A)<1

If P(A1) = 2P(A2) = P(A1/P(A2) =0.4 then find following
probability: |

(i)  Only Al happen

(iii) Both Al and A2 happen

(iv) At least one of them happens

{v) Neither Al nor A2 happens

OR

With usual notations, state and prove addition theorem of
probability considering two joint events

In a box there are 3 white and 5 red balls, in second box there are
6 white and 4 red balls and in third box there are 7 white and 2
red balls. Two balls are drawn at random from a box, find the
probability to get one whlte and one red ball |

Give conditiOns, p.d.f. propertiés and uses of Bin_omia!,‘PoiSson
and Normal distribution of probability

Fit Poisson distribution to the following data and compute

Page 2013

®



Q. 4(a)

expected frequencies ( Given e™ = 0.368 )
X 0 1 2 3 4
F: 37 36 19 6 2

OR

For binomial variate given n = 10 and P(x = 5) = 2P(x = 4), then 7
find value of ‘p’

In a normal distribution 31 % observations are lessthan45and 8 8
% observations are more than 64. Find its mean and standard
deviation

****ﬁx%****

®

Page 30f3







{7} p. LJ SEAT No..______,_ | ‘ No, of Printed Péges

DATE: 22/11/2018, Thu Eédaaf

TN g g i,

SARDAR PATEL UNIVERSIY
BCOM SEMESTER III EXAMINATIONS 2018
SUBJECT: BUSINESS STATISTICS I (UB03CCMO04)

: 3

TIME: 10 AM TO 12.00NOON

Note: (i) Figures to the right indicate marks

(i) Use of simple calculators is allowed
(iii) Statistical tables will be provided on request

Q. 1{a)

(b}

Q. 1(a)

(b)

Q. 2(a)

Auotel (i) UA(i) AU
(i) wels W d(iv) gl Qdre
Aol WA w2 vugld [adau daur s;ﬂ Aol Wtals, Wl

A Gges

6854320123457678688767540123
4567886743012345678787887865
4301256512340785

Yl

walls uad oo URA dRell dslad Wl At el

e,
ol Aell WRA HE 2cll Rodloll Guallor 531 U 22 - 25 oll As

wRatrs adf @ wgl Qg da s
10 17 15 22 11 16 19 24 29 18 25 26 32 14 17 20 23 27

30 12 15 18 24 36 18 15 21 28 33 38 34 13 10 16 20 22

29 19 23 ¥aA31

B M = 26 wlla A A vzl g el dedl uadtis
aad.

Class: 0-10 10-20 20-30 30-40 40-50
f + 5 ? 20 .7 =250
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(b)

Q. 2(a)

(b)

Q. 3(a)

Q. 3(a)

(b)

ol Aol Bl uell Heas ual yidlc Qauctet sl
X1 2 4 6 8 9
W ell

R aeand sl Slat dcl YRHIMeAl HIdl epiell. g2 Hiu A
87 U W22 |

100 YILctiSloll HEts ual Yl Ructet efsd 40 Aol 10 D.
wonl wer udl 3 A Ldisl 30 uA 70 geell 3 uUA 27
ddld Acual sl dl WA HeAs A Yuldld Qacst bl

detaottell sufllAs, Aissiausllal U Y URRQUYSA cRlluAu
QU el YARA ABAHL Alold 52 &

()  PA)+PA)=1ua

(i) O0<PA)<1
%\ P(A1) = 2P(A2) = P(A1/P(A2) =0.4 &l cl «{lAs{l deuaoitail
Q-

() A Y2ell AT 0ol
(i) olol Heoll A1 dlat A2 Kol
iy Wl el Als Yol ool
(iv) s ULl Yell o Glal

A g el
YARA AL detctolle] A AYsd Ugolizll M2 UcUou]
yda gaial el ol 20,
As VAL 3 uFE A 5 el esl B, ofly Al 6 ude ua
4 e £SIRA B, A Al AL 7 uIE AUA 2 cuet ESA B,
A esll A8 As WMl A urle srcudl 2 AL As AkE
Aol A5 cled €5l 1O dofl Aellaloit 0.
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Q. 4(a)

(b)

Q. 4(a)

(b)

U], Matdot 2ol it (el H2 Axell ardl, deldol
wzecl (@R, oyaretdl el GuaAoll wgual.
Aol g Qe Wadd Qdrg ol dusl wAEd

vl e,

( Givene™ =0.368 )
X: 0 1 2 3 4
F: 37 36 19 6 2

gl
A U R0 M2 n =10 2ol P(x = 5) = 2P(x = 4) &
v ofl B el
s Yl [QdWlell 31% ULdisl 45 5cll 9L B A 8%
YLdldl 64 s3cll ady 8. dl Aol Heas M WilRld ([Qucet
24l
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